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SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H H &2
pui=mn: 4,773,888 4,628,888 145,000

=2 68,602 68,602 0
2 4,705,286 4,560,286 145,000
XH AF2H2 4,048,652 3,903,652 145,000
A2 3,753,793 3,608,793 145,000
So HArze 318,000 273,000 45,000
401 AlEHIZ 2Tl 253,000 208,000 45,000
01 Al&HI 251,000 206,000 45,000

o ddg HIEEXNAMEH d3E L XS EFSAt
45,000,000 * 14l 45,000 0 45,000
S o HAHEIXMEH A A= 1,600,000 1,500,000 100,000
401 AlEHI 2 =0hY] 1,600,000 1,500,000 100,000
01 Al&HI 1,600,000 1,500,000 100,000

o 20|H #YEXHME A= ZAHHI

A3 1,600,000,0008 * 14l 1,600,000 1,500,000 100,000
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